
𝑃(𝑋 ≤ 65) 𝑃(𝑋 ≥ 65) 𝑃(50 ≤ 𝑋 ≤ 70) 𝑃(𝑋 ≤ 45) 

0.84134 0.15866 0.95450 0.00135 

𝑃 𝑍 ≤
65 − 60

5
= 𝑃 𝑍 ≤ 1  

                     
 

𝑃 𝑋 ≥ 65 = 1 − 𝑃 𝑋 ≤ 65  

= 1 − 𝑃 𝑍 ≤
65 − 60

5
 

= 1 − 𝑃 𝑍 ≤ 1   
 

𝑃
50 − 60

5
≤ 𝑍 ≤

70 − 60

5
 

= 𝑃 −2 ≤ 𝑍 ≤ 2  
= 𝑃 𝑍 ≤ 2 − (1 − 𝑃 𝑍 ≤ 2 ) 

𝑃 𝑋 ≤ 45 = 1 − 𝑃 𝑋 ≥ 75  

= 1 − 𝑃
75 − 60

5
 

= 1 − 𝑃(𝑍 ≤ 3) 



𝑃(𝑋 ≤ 108) 𝑃(𝑋 ≤ 92) 𝑃(84 ≤ X ≤ 112) 

0.69146 0.30854 0.61504 0.97725 

𝑃 𝑍 ≤
108 − 100

16
= 𝑃 𝑍 ≤

1

2
 

𝑃 𝑍 ≤
92 − 100

16
= 𝑃 𝑍 ≤ −

1

2
 

= 𝑃 𝑍 ≥
1

2
 

= 1 − 𝑃 𝑍 ≤
1

2
 

𝑃
84 − 100

16
≤ 𝑍 ≤

112 − 100

16
 

= 𝑃 −1 ≤ 𝑍 ≤ 0.75  
= 𝑃 𝑍 ≤ 0.75 − 𝑃 −1 ≤ 𝑍  
= 𝑃 𝑍 ≤ 0.75 − (1 − 𝑃 𝑍 ≤ 1 ) 

 



𝑋 ∼ 𝑁(60,52) 𝑋 ∼ 𝑁(60,52) 

𝑋 ∼ 𝑁(60,52) 
 

𝑋 ∼ 𝑁(60,52) 



𝑋 ∼ 𝑁(100,162) 
 

𝑋 ∼ 𝑁(100,162) 

𝑋 ~𝑁(100,162) 
 

𝑋 ~𝑁(50,42) 


